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�� 
��� ���� � 
���� 
����  

   2�$� �-���$� ��,a� S���-    ��)  D�3?3 (-   ��� �� �$� #��    � ����
���    
=� ���  �=�0� ��	       �����=� �$3=0� �=� ��$�     2��=� .I=�� L��=� � 

  3��B$� ��� ����1�� .  ��� <��r�� �	$    ���� × ��=�       ��	�=� ,=�- �=�� 
��0�            .=B$� ��=� �=���1�� 2��� .I�� L��� �� ��$� . r� �� �I=�� 

L�%-���           �����=� �$30� L������ �� 3B ���� ��)106 ×1/109 ( ��
     W�� ��� O�> ��   ��� #�3� H�I�
 ��      .B$� ��?� ����) D�3?

4 .(                 z='�� ��=� �� �=���� #�=���> ��=��r� ��=?� H�I=�
 L�$ ��
    �� ��� �/! L��� Y�$,&$    �� � ���>       .=
� � 6���� O3' #! ���� -

 ��� ����"     �0=
�� �$�=� $� l�$�=B  �=0��?     ��=]A� ��=� �=���1�� 
��    3���)27 .(�I��r� ���              �$3=0� L����=�� �=� �$� #��=- ���9 ���

    ��+�� �� ������)N4(       �=� .
�:+� � ��$� ��� �� "    #�=�,+� (��=*
  ��� ��&� ��1�"  3���> 23����  .  �� ��- ��    ��� Y�$,&$ 3
�2   �/!   �=B�-

     .
�:+� � ��$� ��� ������ �$"          =0��? �$3=0� Y�$,=&$ ��=*$ <=��' � 
  3B�� ��� ����1�� .  L�%-��� �I��r� ��       q8�=�$ �=� 3=B 23���� ��

��0�      ��+�� L�� ��$�)N4 (  �)N5 (      .=B$3- ��?� ������ �$30� ��- �$ .
         =� �/! o���� �� ����+�B ��� #��+- �&�c$ ��0�
       �$3=0� �=� �=)�� ��	

0��?� ��    .
$ 2��+�- ��a�$ ����1p     ��� 3G �$ Y�� Y�$,&$ ��]/$    ��=�
        .=B$� 3=�$�� �� �� �)�� ($�	$ ����+�B .      #$��=1+� � �=+�/)23 ( ��

     �� ������ �� 3-�$� #��- ������!� ��� O          z='�� ����+�=B � �=/! ���
�
     0��? #t����- � L��� ���- L���   �� ��� ����1��   ���> .   � �=���d����

  #$��1+�)5 (,�-   0��? �$30� Y�$,&$ �        H=� �����=� �	$ �� $� ����1�� -
          3=-��+- ��$,=> ����+�=B � �=/! ��� #��� .       <=��r�� �=	$ �=
��� ��

���    ���� ×���            �=� 3B 23���� ����1�� 2��� .I�� L��� �� ���
���     .)* L�$ #$,�� L���)7/406 ��1�� O�> (    ��=+�� ��T2N4   ��=a�$ 

 3���>) <1B1.(  
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 ����3-���� ��
� � !B� (
) *5�2��� �H�
� I
6= 2��
�� E�
�J��	 2�K (
) � *�� �#��  

I
H52� ,�L�
��           M5
@�
I
2��N�  

���� 
��
#?   !7�# ,52	

 *5�2��� ���� 
 �
�H�
�2�	
5  ���
#? #
�
67�

���.
  
 #
�
67�

*�
��&  #O
�
	  #O��.   �2��+'
��
�  

 �=��
,P��  

 �2��+'
,P��  

 ����  2  *4/143  ns 853  **31/6  ns 2/0  ns 511  **1/34  ns066/0  ns 553  ns 83  ns 321  
��� ����2  **4/312  **7/157  **1/27  **73/53  **2390201  **1/907  *89/1  **295223  ns 7/17  **56631  

 ��R�a4  8/42  1/23  27/0  8/1  15152  7/22  23/0  32453  1/203  2643  
��� ���5  **8/1234  **4/724  **04/10  **9/77  **109065  **74/36  **66/0  **154366  **4/214  **53263  
���  ��� ×

��� ����  10  **8/342  ns 8/3  ns 
081/0  ns 07/7  *7187  ns 81/6  ns 02/0  ns 7282  ns 5/3  ns 2342  

�R�  30  4/16  4/6  065/0  2/8  2200  65/4  065/0  4321  4/12  1234  

 ** " * �ns ����0� q8��$ ��?� �-��- 6���� �� �$� D�+�G$ xR
 1 % �5 %��0� q8��$ ��?� O3' � 3*�� �� �$� 3B��.  
  

  
 $�"1-7�
�� �,�L�
��  ���� !7�# ,52	 J� !B� (
) *5�2��� ��	 $5
��� 2K
 2�K *��(
) �  �#��  

)T1���  "D�$3�� ����T2���   � <7$3G ����T3��� #�3� H�I�
  ���� ( �N1) "��$� ��� N2 ".
�:+� N3+�B ���  "����N4 .
�:+�  + "��$� ���N5 .
�:+� 
 + ��$� ��� + � ����+�B ���N6 3��B ��+��(.  

��&��       #$��1+� � ����d���� ���)5 (      .=
�:+� ������ �$� #��- ,�-
       �=���1�� 2��=� .I=�� L��� Y�$,&$ z'�� ���> ��� � ��AB �/���

 �� ���  ���> .           Y�$,=&$ �=	$ �� ��� �1�,�& l�$�B ��]A� #�-!  2��=�
        3-��+- #$��' Y�$,&$ L�$ ��*$ <��' $� ��� �/! . O�=?   b�;=�� 

   H�I�
 �� ��� �����   ��� H�      �=� Y��� ����     3=���)2 .(   �=	$ ��
 2��A- ������        ,=�- �=/! ��� O�=?         Y��=� ��=� ����=� b�;=�� 

��  3��� .  Y���O�?  ���� b�;��         #$��=1+� � �=/ l
�� ��� �
)22( �� "     & Y�$,&$ <�Z� �$ �1� #$��'  �� � .�/�0     ��=� �=���1�� L�

  p.
$ 23���> ��$,>     Y��=� $�=�� O�=?    z='�� ����=� b�;=�� 
        �=� #! (�n=B�� � ���� 3B� Y�$,&$           .=�/�0& W=��n� �=� � ���=>

  �� �a�� #$�$3-�?,��  ��B .             �� ��=� �=� �=/! �$�=� #��,=&$ L�$���=��
  ��� H� H�I�
  ����"        �$� Y�$,=&$ $� ����1�� 2��� .I�� L���  . �$

 %�� ���
           D�=�n� L��� Y�$,&$ z'�� .
�:+� � ��$� ��� ��?� "�

�==� ��==� #3==B �-3==0� <==��7 #t��==��- � m! �� ���==> . � �==���d����
  #$��1+�)5 (      i�=���� L��=� � �����=& �� L=�$ L�� ��]v� �%�I]+�

   3-��� ��$,> ��� ����1�� . ��&�� L��X+�         #$��=1+� � $���=� ��=�
)9 (   H� ������ �$� #��-     ,]=
 ��=� #�=��)  �=�     ��=B�9 2�=�> #$�=�'( "

   ����+�B ��� � .
�:+�"      2��=� .I=�� L��=� � �)�� Y�$,&$ z'�� 
�� ��� ����1�� ���>.  

  
������ 
�����  

 +� .�/�0&� H�,-!           =� .=n� �=0/�R� ���=� ���
  H�I=�
 ��	    ��=�
���    ��� � ����        .=&�> �$�=7 ���)   D�3=?3 .(  I=��r� ���  L�%-�=��   

H�I�
        � �=� 3B ���� ������ ���       �� �=+�,-! .=�/�0& L����=�
  ��+��N4     
�:+� � ��$� ��� ��  �� . H� (��*      ��=� �=�&� ��1� #���
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   3���> ��a�$)  D�3?4 .(  �� ��- ��    ��� ������ 3
�   �/! ���"    ��=]A� �� 
              l�$�=B #3=B H�$�=& z'�� ��� �/! 2��� Y�$,&$ � ��� #�+���


 0��? �$��� ���1��          -! �=+�,-! .=�/�0& � 23=���> ��� �  $ �=A  Y�$,=&
�� 3���.  

    #$��1+� � ,������)26 (    0��? �$�r�
$ � (�]	 Y�$,&$�  �=���1�� " 
        ��� ������ �$ �B�- i���� #$,�� Y�$,&$ �	$ ��         <=��' $� �=/! ��=�

      3=-��+- �=&�0� �+�,-! .�/�0& Y�$,&$ .       �%�I=]+� Y��=��! L=�$ ��
  ��Z��)  D�3?5 (          2��$ .=�/�0& �=� �=���1�� 2��� .I�� L��� L��   "�!

&     3���> 23���� �����7 � �3�
$ ����)I .        .=�/�0& L�=� "��=?� L=�$ �=�
          �=�0� �%�I]+� ����1�� 2��� .I�� L��� �� �Z��
 � �Z����   ��$�

 3���%- 23���� .        ��=� ������ �	$ �� ��� �+�,-! .�/�0& Y�$,&$    ��=�
              .=
$ 23=B ��$,=> ,=�- ��=%�� (�0/�R� �� �/!)26 .( �=�&��    ��=�

  $��1+� � �-��1
��>  #)16 (        q�;� #$,�� Y�$,&$ �� �� �$� #��- ,�-
.
�:+�    �� ��� �+�,-! .�/�0& "     �=� Y�$,=&$ �R� (��*   3=��� . ��

I��r��        2��$ .=�/�0& �=� 3B ���� .
�:+� �� ��$� ��� ������   "�!
  Z��
 � �Z����         �=� .=
�:+� �� 23B ��+�� ��� �� �   �=�0� ��=5   ��$�

  � �$ �����  ��� ��$� �� . ����+�B ���   �=� ,�-    �=�0� ��=5     .=�/�0& ��$�
 H�,-! �+�       �$� Y��� $� �0/�R� ���� ��� .  ������   <:��� (�)I& �9�


             ����)I=& .=�/�0& � 3���> �)
�,�� �� mj? <��7 �)I& �+�$�& z'��
   .&�� Y��� ��� �� .  ��+�� �+� L��     ���=� ��=�"   2��$ .=�/�0&     �� �!

  ��+��N3      ��� #$,�� L���+� �$�$�)  D�3?4 .(��  �� ��-      �����=� 3
�
 �� 2��$      �+�$�& z'�� ����+�B ��� #$��'NH4   �� �)
�,�� ��     ���=>

         2��$ .=�/�0& �7�� � Y��� z'�� <��' L�$ �    �=� �!  ��=B .  <�I=-��9
Y��I�$-     � ��� Y���pH  �=�             ��=� �=+�,-! .=�/�0& �=� 3=-$��

���	
 3B�� �$j> .          �=�G$ ./�G Y�$,&$ z'�� .
�:+� � ��$� ��� ������
  �pH  �� ���   ���> .��&��       #$��1+� � ����- ���)28 (    �$� #��=- ,�-

   ��� �� �I��r� �� �� ��� ������ "�/! ���   Y��=� z'�� ����+�B ���

pH   � � ��� 
        =0��? � �=+�,-! .�/�0& �� �)�� ��	�     ��=� �=���1�� 
�� ���> .  

I��r�� L�%-���   H�I�
     ��=� ���          .=�/�0& �=� �$� #��=- ����
 �3�
$ ����)I&        ��� #�3� H�I�
 �� �Z��
 � �����7 �     Y�$,&$ ����

��0�       H�I=�
 ���
 �� .]I- ��$�     ��=� ��=�   ��$� ���� .    (��=)� �=�$
��0�          2��$ � �Z�=��� .=�/�0& �$�=� ��$�      H�I=�
 L�=� �!      #�3=� ��=�
���     ��� H� � ����      3�- 23���� ����)  D�3?4 .(��&��     L�=? ���

   #$��1+� �)20 (    � �� �$� #��- ,�-��        Y�$,=&$ z='�� ����)G ����
   �� ��� �+�,-! .�/�0&  ���> .  0��? ����� �
��
��   m! �� ����1�� " 

       ��� #�3� H�I�
 �� ���]� Y��� �	$ ��  ����"     H=A� �$ �=1�     L��=�
     �� ��� �+�,-! .�/�0& Y�$,&$ <�Z�   3=B�� .        "<=+' L=�$ �=� 2�8='

���     #��B! 6���� �� ����      =0��? W=�t�/��$ ����   � �=���1��   z='�
0��? �$30� � .�/�0& Y������ ����1��  ���>.  

  
���
 
����!  

  2�$� �-���$� ��,a�      ��� �� �$� #��- ��        �=���� o��=�� � ����
  ��0� ��	
� ����          ��$� �=-$� ��=1�+' �� ��$�)   D�3=?3 .(   �I=��r� ��

L�%-���  ���         ��+�� 3B ���� ������ ���N5 ��   �=�0� ��5   ��$�
  �-$� ��1�+' L���Z��     ��+�� ���
 �� .]I- $�       .=B$� ��)   D�3=?6 .( ��
   �� 6�R� L�$ ��?��      � �)I=& ���- o&� ($�$�� �� �� .B$� ��A�$ #$��

           .
�:+� � ��$� ��� #��+- �&�c$ "����+�B ��� l
�� 2��> #t����-
   H� �*��' �+�$�& z'��      3���> 2��> �$�� �/! L��� � q�;� . (����$

   <���� �)13 (  3-�$� #��- ,�-    Y�$,=&$ z='�� .=
�:+� �$ 2��)�
$ �� 
�� 2��> i��
� <��7 H�I�� � H�,��� "H�
��9 "�)I& ���>.  

  

 ����4-,�L�
�� �7�
��  ) ±��
��
�.
 �
R)  (��	 S�R. 2�KJ� !B� TU) (
) V2W 2� �� *5�2��� �H�
� I
6= *��(
) �  �#��  
 ,52	

 *5�2���  ���
#?� #
�
67
���.
  *�
��& #
�
67�  #O
�
	#O��.  �
+�� 
�  

 �
�H�
�2�	
5  

)106×(  )TU) (
) V2W �� V2W�2���(  
���� ���

���  D�$3�� ����)T1(  c 8±1/53b 33±5/178  b 8±5/27  c 22±1/198  c 56±1/2494b 2±7/22c 9±8/34
���  <7$3G ����)T2(  b 11±7/99a 16±4/227  a 4±9/45  b 4±9/248  b 101±2/2765a 4±2/61b 11±9/51

��� #�3�  ����)T3(a 9±1/109a 14±6/222  a 5±9/46  a 17±4/299  a 176±3/3189a 5±6/67a 3±7/63
��� ���        

 ��$� ���)N1(  c 12±3/72  8±4/198  c b 2±8/49b 6±4/269b 44±3/2887  b 1±2/48  b 3±1/53  
 .
�:+�)N2(  b 7±4/92  7±6/202  c a 3±2/45b 6±8/269b 35±4/2901b 3±9/49  b 7±3/54  

 ����+�B ���)N3(  d 17±7/46  1±3/116  d c 1±8/27c 5±1/258c 100±3/2578d 4±2/43  c 6±8/43  
 ��$� + .
�:+�)N4(  a 21±9/144  4±6/249  b a 2±8/49a 12±9/326a 243±4/3214a 12±2/83  a 11±8/68  

����+�B+��$�+ .
�:+�)N5(  a 19±1/143  26±2/391  a b 4±3/39b 7±2/267b 44±1/2758c 3±6/54  b 5±1/54  
 3��B)N6(  e 4±7/26  12±3/99  e c 6±9/28d 17±8/101c 69±2/2558e 4±3/24d 5±8/26
L�%-��� ��0� ����! q8��$ 37�& #��
 �� �� ����� q�G W� <7$3G �$�$� ���  D�+�G$ xR
 �� �$�5 %�� 3B��.  
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 ����5-%+� [�2\  *L�7)r (H�
� ���� !7�# ,52	 � *+���? !�C
H� ,�5� (
) *5�2��� )n=54(  

   ���� !7�# ,52	
 *5�2���  #? ���
   #
�
67�

���.
  
 #
�
67�

*�
��&  #O
�
	  #O��.   �2��+'
��
�  

 �=��
,P��  

 2��� .I�� L���
����1��  1                

�! 2��$  **812/0  1              
�3�
$ ����)I&  **723/0  *523/0  1            
�����7 ����)I&  **889/0  ns 269/0  **690/0  1          

�Z����  ns 212/0  ns 227/0  **686/0  *654/0  1        
�Z��
  ns 422/0  ns 171/0  *456/0  **769/0  ns 096/0  1      

�-$� ��1�+'  **657/0ns 478/0*505/0**876/0ns 123/0ns 202/0  1    
L^�� 3*��  ns 321/0**876/0ns 123/0ns 089/0ns 101/0ns 211/0  ns 234/0  1  

 ** " * �ns ����0� q8��$ ��?� �-��- 6����  D�+�G$ xR
 �� �$�1 % �5 % ��0� q8��$ ��?� O3' � �� �$� 3B��.  
  

            Y��=��! L=�$ �� 2��)�=
$ ���=� .
�:+� �%�� q�5 �$"   ���=G 
   ��>�> 3*��)S (     ��=� ��Z�=� ���]I=- .     .=
$ ��=*��' �$ ��>�=>  �=�

            �=� #��=- .=]v� <+0/$ �1' #! �� .]I- �-$� ��1�+'     3=��)43 .(
    H� ������ �� �-$� ��1�+'       .=
�:+� � ��$� ��� #���)N4 (  q8�=�$

��0�         ����+�B ��� ������ ��+�� �� ��$�)N3 ( .=B$3- . �=c$   #��=+- �&
���      
� �� 2�8' �/! ���  ��$j^ �*��' L��"       �=1�,�& b$�=� ��]A� �� 

  
��� l�$�B ���      =0��? 3=B� �$�� $� �]�      ��=�� �0=
�� � �=���1�� 
 �� H�$�&    3���+-)1   � 30 .(#�+�         D�3=? �� �=� ��54    3=B 23���=� " 

            �$� Y�$,=&$ $� ����)I=& .�/�0& .
�:+� � ��$� ��� #��,+� ������. 
            �)I=& (�=]���� �$ �)I=& ���=
�$�! z='�� ����)I& .�/�0&   ��=� �$�

��  ���> .��&��       ��d��� � �$3&�5 ���)37 (       .=�/�0& �	$ �� �� �$� #��-
����)I&"           �=� Y�$,=&$ 2��> l
�� ��� �/! (�)I& �� �
��
�    3=���. 

     �� ,�- �)I& �� �
��
� Y�$,&$      ��=1�+' Y�$,&$ <�Z� �$ �1� 3-$��
���> �&�0� �-$�.  

 I��r� ��� L�%-���   ��+�� L��  ��� ��� �� ��G8� ����   �=� ��B
    �-$� ��1�+' L������)3201 ���   ���1� �� O�>� (   ��=� ��+�� ��   ����

  <7$3G)T2 (    3=���> <*�G)   D�3=?6 .(   ��=� H�I=�
     D�$3=�� ����
       ��� #�3� H�I�
 �� .]I- ������ �-$� ��1�+'      ��=+- ��=a�$ ���� p
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Abstract
In order to evaluate the effects of fertilization and tillage methods on soil microbial community and 

sunflower yield, a field experiment was carried out in Sanandaj. The experimental design was a split plot with 
three replications. Main plots consisted of no tillage (T1), minimum tillage (T2) and conventional tillage (T3). Six 
methods of fertilization including (N1): 15 t FYM ha-1; (N2): 10 t compost ha-1; (N3): 75 kg triple super 
phosphate ha-1 + 150 kg Urea ha-1 + 50 kg Sulfate potassium; (N4): 10 t FYM ha-1 + 5 t compost ha-1, (N5): 10 t 
FYM ha-1 + 5 t compost ha-1 + 25 kg triple super phosphate ha-1+75 kg Urea ha-1 + 25 kg Sulfate potassium and 
(N6): control were arranged in sub plots. Results showed that the maximum number of bacteria (109.1×106) in 
dry soil was obtained from the no tillage system. Also, co application of farmyard manure and compost increased 
bacteria number and phosphatase, urease, catalase, and cellulases activities. All soil enzyme activities decreased 
significantly with application of chemical fertilizers. The activity of phosphatase (acid and alkaline) and 
cellulase tended to be higher in the no tillage treatment compared to conventional tillage (51, 27 and 83 % 
respectively). The significantly highest grain yield and oil yield were detected in N5 treatment. The highest grain 
yield (3701 kg/ha) was produced in minimum tillage system. 

Keywords: No-tillage, Soil microbial community, Compost, Farmyard manure 
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